éio“wgdh Bl 14
A foabe 4
o) Fx) = /xé—éxﬂgx - x'ldc Sx+ C

b) F&l= —3eesx -4 Smx + C

c)'F(xj- - Blnlx]+ x+ <

d) ¢0= £ —x-2x"
F ()= iﬂnlxl

o) Fx) = g—_@rdwx—&ﬁx + C

) F ) = —L Grso X - tx+ C

$) F6) =~ 2 OSX - 6@%/K}+q§x3—\— -

h) F69=—=3 ~ simx+ C

£ffga¢ug;

O F W= & - Ix3- x3-cosx+ C

6) T (0= &+ Cobx+ C

O S(ix@xs Yax = £x3- 62+ Gxt C

d) F&) = = 2amdax— Lulxls C

x——x—‘-C

e) TW= Sosmx+C
ag) TR = Se_)(-— J/)-\- C

. “
RS ”"dx- [ xF e [x dx
/1 %M 1’1
= ' +C=::’79x5+C

T
) Shetiten | na
Z
x
= £xF 4 C

Aube 2 X

G Jxbuxdx - Fx (4 “dx
v\‘ \Y v\ \/'

:9_28m< &.& 2 4+ C
- gxl(%x—i> + C

o) Ja-sxdx = X SmX- jMx

w oV i
X sux+ oaSx + C
A

c.) jA Qux dx = X'&x—j;\')?dx

f«&axdx—; [# @Vtx—xjj_
A

- SanS-95- (4:0— ,()
— SIS -4 = 4,06%..
UL) [ &5 Bx)dx = % 4 (o5 (3x)) —\‘((—%CDS(S)Q)(,{;(

w ooV
____—55— (es (3?&)—(—@ cos (3x) dx

A4 N
= -Zos3n+ j—m(sx) +C

e,) _E?ﬁexo(;( = Ke_x— V(exdx ——XQK—QK—(—C
b = (x-4) S C

63 08
j e dx = [(K~'OQKJ
o o

o
= —O[J\QOJ— <—/7'Q >

= - O,Zef'a: 0,555 ...

2) | 1 adanx dx = x ardoux— [ dlx
Y A+x*

Stbshihuhonsmethod @ X Gre v X ’—( I /4+)<R/+C
R i On (443)eC

Afacbe

X .
0L> JLK tosx dx = Q_XCDSK+ jL somx dx

|
U\IV w Vv

X x . X
— o o5 +esmg+C— fa (4§ X dx

¢

MI die uke
Sete Mayu

o (cosx+ Mx)+C

= J J & asxdx =

> Jefcsdx = L & (cosr=+ s x)+C

jxp‘efxdix = — Klej)(-q- Q‘(X Q,_Xo\x

w v!
= % +Q( ex—i—f{xo{x)

_ —X - x
_ A A xe = de T+ C

w V'

— _ 2 F(x*+2x+)+ <




4_«%0.109_ S
3xl'
9J\H+ x° “g /11-»<
SVJJSA'MCM
t = A+x3

_é{-(-/\
_2tr4(C= 2 s <
E&ckﬁs& _ 2 e+ C

€ =Sx+MR== T <§x+4&)&+ -

‘*) i} (/f—x\% dx = —_((-'\) @-x)%dx

Cubsh. + = 4A-x
=_ tidtE
- - —}Jc%—e C
3

_.}‘?L%M—x)s + C

d) [ wsix -sinxda= — j(wsx)g (- somx)chx
Subst. £= oS X

__ [ etat
_a Lt 4 C
= "4
- -1 cas%x
0
\J 3 . A L#_ 4 4
(oS K- g dx = — £ Cos' T~ (—z;cos 0)
O
= - ’{) _{-LLA _O

)jwmx J-%cu\— ”Jc;‘+C

A+ x>

(g t= tednx = f;fdmlwx) + C

g) | etdx = [ L= Bt e
X2+ bx— J&
&L\XS& ‘t=><+éx-z(,l = /QW/XQ+(>K—/{,;Z’+ C

3)"(;&1)( j%u b ltl+ C

Subed. t= Gnx = &&(&X(
h) % sim(x¥)dx = ;3{ [ax-som () dx
Subse. t=x*

= L[ satdi
;\(_OS_e +~ C
— 4 es(x¥)r &

L

Afoabe 6

6
0 st [#x-§-2rt o
[0}

- 64 -fe-ih 40-0 =947

$Stune [6d1S = Gua—tut =/

sunx—h - 085X dx_E a O K~ lo&mx]
— & ('/O*(_C\.):;ZQ
j--x)dx=[ﬁﬂ - ilT
_(0-2)= nb-Fa=-6m,

&

2
;(/ﬁ_f_ “ o /-L’_‘\;i

N

I
Sy
"

) 5—§ - s-jjgxijf: 5.2 (10-4)
= 6/Oj¢|:|

<L
ﬁ) [ cosndx= [S«m ﬂj; —SWu L- 0= 0 905..

T




Aufpbe T
) i(ﬂ:—fxgﬁ- L =0
&= %x‘1=4
&  K=db
<:> X—’;—[l-\rx:Q

-—x+4otx [—xwx

RAVINET LJ/ £6)

_ 4.
= T 1
2 -

b} \(Londx: ):SAM x]:'{= 4—(—/0:9\

Q) g6=-3 (5-2)"+§

_—-_—3(X2’LFX+[\~>‘(‘S_:O

& X =l b —2—_ = 0

P(_C[,——"Fbrmzﬁ__: ?(4-——;*\{‘(-—% = ©,7F03
Ra=a+ k-T '= 3,a303
AN
/o/63.. \ 32308
3,2909
Je30xares) d
o704,
3,
£—~ (-2 + Sx e
0,70g




